% ] [ Multipliser desimaler med ti

StudentName: __ ExamDate: __ ExamScore: ____
7,066 x 100 = 6,234 x 100 =
4,57 x 1000000 = 4,404 x 100 =
10, 262 x 1000000 = 4,16 x 1000000 =
8,222 x 1000000 = 5,632 x 100 =
7,751 x 100 = 4,454 x 1000 =
1,723 x 10 = 9,369 x 100 =
7,421 x 1000000 = 10,748 x 10 =
3,188 x 10 = 6, 25 x 100000 =
3,377 x 1000000 = 9, 386 x 1000000 =
4,453 x 10 = 7,912 x 1000000 =
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Multipliser desimaler med ti

StudentName: ExamDate: __ ExamScore: ____
7,066 x 100 = 706.6 6,234 x 100 = 623.4
4,57 x 1000000 = 4570000 4,404 x 100 = 440.4
10,262 x 1000000 = 10262000 4,16 < 1000000 = 4160000
8,222 x 1000000 = 8222000 5,632 x 100 = 563.2
7,751 x 100 = 775.1 4,454 x 1000 = 4454
1,723 x 10 =17.23 9,369 x 100 = 936.9
7,421 x 1000000 = 7421000 10,748 x 10 = 107.48
3,188 x 10 = 31.88 6,25 x 100000 = 625000
3, 377 x 1000000 = 3377000 9,386 x 1000000 = 9386000
4,453 x 10 =44.53 7,912 x 1000000 = 7912000
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